

## County Distribution Detail Report through 03/04/2020

## Aurora

Autora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,100	1,878	32	3,010	\$3,762.50	\$83.03	\$3,679.47	0.70	\$2,575.63
							Entity Total:		\$2,575.63
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,575.63
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	3,751	10,129	287	14,167	\$17,708.75	\$390.06	\$17,318.69	0.70	\$12,123.08
12/2019	0	0	62	62	\$77.50	\$1.55	\$75.95	0.70	\$53.17
							Entity Total:		\$12,176.25
							Adjustment:		\$0.00
							Total Amour	nt:	\$12,176.25
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	888	1,064	6	1,958	\$2,447.50	\$57.14	\$2,390.36	0.70	\$1,673.25
							Entity Total:		\$1,673.25
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,673.25
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	9,072	4,946	10	14,028	\$17,535.00	\$352.37	\$17,182.63	0.70	\$12,027.84
							Entity Total:		\$12,027.84
							Adjustment:		\$0.00

**Total Amount:** 

\$12,027.84

## **Brookings**

Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	3,660	19,724	169	23,553	\$29,441.25	\$661.44	\$28,779.81	0.70	\$20,145.87
12/2019	0	1	26	27	\$33.75	\$0.65	\$33.10	0.70	\$23.17
							Entity Total:	:	\$20,169.04
							Adjustment	:	\$0.00
							Total Amou	nt:	\$20,169.04
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	9,653	25,693	263	35,609	\$44,511.25	\$943.16	\$43,568.09	0.70	\$30,497.66
12/2019	0	1	3	4	\$5.00	\$0.08	\$4.92	0.70	\$3.44
							Entity Total:	:	\$30,501.10
							Adjustment	:	\$0.00
							Total Amou	nt:	\$30,501.10
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,232	3,561	9	5,802	\$7,252.50	\$95.71	\$7,156.79	0.70	\$5,009.75
12/2019	0	0	1	1	\$1.25	\$0.03	\$1.22	0.70	\$0.85
							Entity Total:	:	\$5,010.60
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,010.60
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	540	437	2	979	\$1,223.75	\$11.49	\$1,212.26	0.70	\$848.58
							Entity Total:	:	\$848.58
							Adjustment	:	\$0.00
							Total Amou	nt:	\$848.58
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,453	6,332	36	8,821	\$11,026.25	\$242.43	\$10,783.82	0.70	\$7,548.67

12/2019	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Total:		\$7,549.55
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,549.55
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	692	1,404	14	2,110	\$2,637.50	\$52.85	\$2,584.65	0.70	\$1,809.26
12/2019	0	0	6	6	\$7.50	\$0.15	\$7.35	0.70	\$5.15
							Entity Total:		\$1,814.41
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,814.41
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,667	5,359	24	8,050	\$10,062.50	\$175.35	\$9,887.15	0.70	\$6,921.01
							Entity Total:		\$6,921.01
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,921.01
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	22	2,562	43	2,627	\$3,283.75	\$82.42	\$3,201.33	0.70	\$2,240.93
							Entity Total:		\$2,240.93
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,240.93
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	839	2,656	67	3,562	\$4,452.50	\$98.87	\$4,353.63	0.70	\$3,047.54
							Entity Total:		\$3,047.54
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,047.54
City of Pierre, Hugh	es Co.								

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	87	288	150	525	\$656.25	\$25.08	\$631.17	0.70	\$441.82
							Entity Total:		\$441.82
							Adjustment:		\$0.00
							Total Amour	nt:	\$441.82
City of Sioux Falls, I	Lincoln (								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	4,139	25,631	1,897	31,667	\$39,583.75	\$839.36	\$38,744.39	0.70	\$27,121.07
							Entity Total:		\$27,121.07
							Adjustment:		\$0.00
							Total Amour	nt:	\$27,121.07
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,332	2,291	14	3,637	\$4,546.25	\$92.92	\$4,453.33	0.70	\$3,117.33
							Entity Total:		\$3,117.33
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,117.33
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,662	7,480	236	9,378	\$11,722.50	\$246.02	\$11,476.48	0.70	\$8,033.54
12/2019	0	0	4	4	\$5.00	\$0.10	\$4.90	0.70	\$3.43
							Entity Total:		\$8,036.97
							Adjustment:		\$0.00
							Total Amour	nt:	\$8,036.97
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	7,536	18,589	596	26,721	\$33,401.25	\$713.82	\$32,687.43	0.70	\$22,881.20
12/2019	0	1	345	346	\$432.50	\$8.63	\$423.87	0.70	\$296.71
							Entity Total:		\$23,177.91

Adjustment: \$0.00

Total Amount: \$23,177.91

Corsor	١
--------	---

Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,297	627	6	1,930	\$2,412.50	\$49.74	\$2,362.76	0.70	\$1,653.93
							Entity Total:		\$1,653.93
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,653.93
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	3,285	5,543	37	8,865	\$11,081.25	\$248.09	\$10,833.16	0.70	\$7,583.21
							Entity Total:		\$7,583.21
							Adjustment:		\$0.00
							Total Amoun	t:	\$7,583.21
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	4,943	13,682	215	18,840	\$23,550.00	\$486.68	\$23,063.32	0.70	\$16,144.32
12/2019	0	1	15	16	\$20.00	\$0.38	\$19.62	0.70	\$13.73
							Entity Total:		\$16,158.05
							Adjustment:		\$0.00
							Total Amoun	t:	\$16,158.05
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,013	3,449	13	5,475	\$6,843.75	\$138.84	\$6,704.91	0.70	\$4,693.44
							Entity Total:		\$4,693.44
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,693.44
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2020	1,737	2,872	16	4,625	\$5,781.25	\$125.62	\$5,655.63	0.70	\$3,958.94
							Entity Total:		\$3,958.94
							Adjustment:		\$0.00
							Total Amour		\$3,958.94
Douglas									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,208	2,138	7	3,353	\$4,191.25	\$81.42	\$4,109.83	0.70	\$2,876.88
							Entity Total:		\$2,876.88
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,876.88
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,258	2,885	20	4,163	\$5,203.75	\$105.51	\$5,098.24	0.70	\$3,568.77
12/2019	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total:		\$3,570.52
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,570.52
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	3,058	4,549	20	7,627	\$9,533.75	\$197.45	\$9,336.30	0.70	\$6,535.41
12/2019	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total:		\$6,537.16
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,537.16
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	740	1,445	13	2,198	\$2,747.50	\$55.55	\$2,691.95	0.70	\$1,884.37
							Entity Total:		\$1,884.37
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,884.37

$\sim$		4	
( -	rа	nt	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,110	5,215	27	7,352	\$9,190.00	\$187.01	\$9,002.99	0.70	\$6,302.09
							Entity Total:		\$6,302.09
							Adjustment:		\$0.00
							Total Amour	it:	\$6,302.09
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,724	3,427	16	5,167	\$6,458.75	\$141.27	\$6,317.48	0.70	\$4,422.24
12/2019	0	0	13	13	\$16.25	\$0.33	\$15.92	0.70	\$11.14
							Entity Total:		\$4,433.38
							Adjustment:		\$0.00
							Total Amour	it:	\$4,433.38
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,012	1,368	5	2,385	\$2,981.25	\$59.81	\$2,921.44	0.70	\$2,045.01
							Entity Total:		\$2,045.01
							Adjustment:		\$0.00
							Total Amour	it:	\$2,045.01
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,637	3,574	10	5,221	\$6,526.25	\$131.28	\$6,394.97	0.70	\$4,476.48
							Entity Total:		\$4,476.48
							Adjustment:		\$0.00
							Total Amour	it:	\$4,476.48
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,090	2,629	21	3,740	\$4,675.00	\$102.53	\$4,572.47	0.70	\$3,200.73
							Entity Total:		\$3,200.73

## Hanson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	884	3,007	21	3,912	\$4,890.00	\$101.18	\$4,788.82	0.70	\$3,352.17
12/2019	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total:		\$3,353.92
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,353.92
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	695	869	2	1,566	\$1,957.50	\$49.69	\$1,907.81	0.70	\$1,335.47
							Entity Total:		\$1,335.47
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,335.47
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	4,135	13,737	195	18,067	\$22,583.75	\$498.78	\$22,084.97	0.70	\$15,459.48
12/2019	0	0	24	24	\$30.00	\$0.60	\$29.40	0.70	\$20.58
							Entity Total:		\$15,480.06
							Adjustment:		\$0.00
							Total Amour	nt:	\$15,480.06
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,876	4,990	62	7,928	\$9,910.00	\$217.59	\$9,692.41	0.70	\$6,784.69
							Entity Total:		\$6,784.69
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,784.69
Hyde									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	602	1,060	6	1,668	\$2,085.00	\$42.11	\$2,042.89	0.70	\$1,430.02
							Entity Total:		\$1,430.02
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,430.02
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	633	854	4	1,491	\$1,863.75	\$37.72	\$1,826.03	0.70	\$1,278.22
							Entity Total:		\$1,278.22
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,278.22
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	820	1,299	5	2,124	\$2,655.00	\$54.79	\$2,600.21	0.70	\$1,820.15
							Entity Total:		\$1,820.15
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,820.15
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	544	689	3	1,236	\$1,545.00	\$31.27	\$1,513.73	0.70	\$1,059.61
							Entity Total:		\$1,059.61
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,059.61
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,320	3,902	56	5,278	\$6,597.50	\$134.87	\$6,462.63	0.70	\$4,523.84
							Entity Total:		\$4,523.84
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,523.84

_		-
ı	_	-

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,644	9,002	274	11,920	\$14,900.00	\$310.70	\$14,589.30	0.70	\$10,212.51
12/2019	0	1	6	7	\$8.75	\$0.15	\$8.60	0.70	\$6.02
							Entity Total:		\$10,218.53
							Adjustment:		\$0.00
							Total Amount:	:	\$10,218.53
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	7,726	16,728	153	24,607	\$30,758.75	\$631.78	\$30,126.97	0.70	\$21,088.88
							Entity Total:		\$21,088.88
							Adjustment:		\$0.00
							Total Amount:	:	\$21,088.88
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	3,752	23,000	1,562	28,314	\$35,392.50	\$771.04	\$34,621.46	0.70	\$24,235.02
12/2019	0	6	326	332	\$415.00	\$8.15	\$406.85	0.70	\$284.80
							Entity Total:		\$24,519.82
							Adjustment:		\$0.00
							Total Amount:	:	\$24,519.82
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	990	1,756	222	2,968	\$3,710.00	\$83.08	\$3,626.92	0.70	\$2,538.84
							Entity Total:		\$2,538.84
							Adjustment:		\$0.00
							Total Amount:	:	\$2,538.84
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,567	2,808	14	4,389	\$5,486.25	\$114.31	\$5,371.94	0.70	\$3,760.36

Entity Total:	\$3,760.36
Adjustment:	\$0.00
Total Amount:	\$3,760.36

McCook	М	C	С	0	O	k
--------	---	---	---	---	---	---

MCCOOK									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,110	4,227	17	6,354	\$7,942.50	\$162.20	\$7,780.30	0.70	\$5,446.21
							Entity Total:		\$5,446.21
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,446.21
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	971	1,532	4	2,507	\$3,133.75	\$75.56	\$3,058.19	0.70	\$2,140.73
							Entity Total:		\$2,140.73
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,140.73
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	3,449	17,892	367	21,708	\$27,135.00	\$588.06	\$26,546.94	0.70	\$18,582.86
12/2019	0	5	7	12	\$15.00	\$0.18	\$14.82	0.70	\$10.37
							Entity Total:		\$18,593.23
							Adjustment:		\$0.00
							Total Amour	nt:	\$18,593.23
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	565	686	0	1,251	\$1,563.75	\$31.30	\$1,532.45	0.70	\$1,072.72
							Entity Total:		\$1,072.72
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,072.72

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	998	1,559	4	2,561	\$3,201.25	\$64.50	\$3,136.75	0.70	\$2,195.73
							Entity Total:		\$2,195.73
							Adjustment:		\$0.00
							Total Amount	::	\$2,195.73
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	41,730	147,685	3,329	192,744	\$240,930.00	\$5,146.53	\$235,783.47	0.70	\$165,048.43
12/2019	0	18	402	420	\$525.00	\$10.01	\$514.99	0.70	\$360.49
							Entity Total:		\$165,408.92
							Adjustment:		\$0.00
							Total Amount	::	\$165,408.92
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,365	4,569	32	5,966	\$7,457.50	\$174.33	\$7,283.17	0.70	\$5,098.22
12/2019	0	0	1	1	\$1.25	\$0.03	\$1.22	0.70	\$0.85
							Entity Total:		\$5,099.07
							Adjustment:		\$0.00
							Total Amount	::	\$5,099.07
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	24,883	78,545	2,007	105,435	\$131,793.75	\$2,832.17	\$128,961.58	0.70	\$90,273.11
12/2019	0	10	95	105	\$131.25	\$2.38	\$128.87	0.70	\$90.21
							Entity Total:		\$90,363.32
							Adjustment:		\$0.00
							Total Amount	::	\$90,363.32
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,695	2,234	8	3,937	\$4,921.25	\$108.57	\$4,812.68	0.70	\$3,368.88
							Entity Total:		\$3,368.88

Adjustment:	\$0.00

Total Amount: \$3,368.88

0.70

\$3,507.53

\$2,455.27

1/2020

707

2,127

33

2,867

rotter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,085	1,792	9	2,886	\$3,607.50	\$73.24	\$3,534.26	0.70	\$2,473.98
							Entity Total:		\$2,473.98
							Adjustment:		\$0.00
							Total Amour	it:	\$2,473.98
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	3,341	4,824	17	8,182	\$10,227.50	\$227.13	\$10,000.37	0.70	\$7,000.26
							Entity Total:		\$7,000.26
							Adjustment:		\$0.00
							Total Amour	it:	\$7,000.26
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	771	1,765	4	2,540	\$3,175.00	\$63.62	\$3,111.38	0.70	\$2,177.97
							Entity Total:		\$2,177.97
							Adjustment:		\$0.00
							Total Amour	it:	\$2,177.97
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,902	4,482	22	6,406	\$8,007.50	\$166.55	\$7,840.95	0.70	\$5,488.67
							Entity Total:		\$5,488.67
							Adjustment:		\$0.00
							Total Amour	t:	\$5,488.67
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$76.22

\$3,583.75

							Adjustment:	\$0.00	
							Total Amour	nt:	\$2,455.27
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	623	1,144	4	1,771	\$2,213.75	\$44.85	\$2,168.90	0.70	\$1,518.23
							Entity Total:		\$1,518.23
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,518.23
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	0	65	3	68	\$85.00	\$10.86	\$74.14	0.70	\$51.90
							Entity Total:		\$51.90
							Adjustment:		\$0.00
							Total Amour	nt:	\$51.90
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,441	3,829	8	6,278	\$7,847.50	\$162.04	\$7,685.46	0.70	\$5,379.82
							Entity Total:		\$5,379.82
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,379.82
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,201	6,121	17	8,339	\$10,423.75	\$210.46	\$10,213.29	0.70	\$7,149.30
12/2019	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total:		\$7,151.05
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,151.05
Union									

**Entity Total:** 

\$2,455.27

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,965	11,116	582	14,663	\$18,328.75	\$439.15	\$17,889.60	0.70	\$12,522.72
12/2019	0	2	22	24	\$30.00	\$0.55	\$29.45	0.70	\$20.62
							Entity Total:		\$12,543.34
							Adjustment:		\$0.00
							Total Amour	nt:	\$12,543.34
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	2,061	3,616	75	5,752	\$7,190.00	\$146.32	\$7,043.68	0.70	\$4,930.58
							Entity Total:		\$4,930.58
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,930.58
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	5,120	15,737	267	21,124	\$26,405.00	\$545.70	\$25,859.30	0.70	\$18,101.51
12/2019	0	3	50	53	\$66.25	\$1.25	\$65.00	0.70	\$45.50
							Entity Total:		\$18,147.01
							Adjustment:		\$0.00
							Total Amour	nt:	\$18,147.01
Totals	209,608	592,733	15,077	817,418	\$ 1,021,772.50	\$ 21,737.79	\$ 1,000,034.71		